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This question paper contains 23 questions. All questions are

compulsory.
Internal options have been given in some questions. Only one of the

alternatives need to be attempted.
Question number 1 to 5 are objective type questions. Each question

carries 1 mark.

Question number 6 to 17, each question carries 2 marks.
Question number 18 to 20, each question carries 3 marks.
Question number 21 to 23, each question carries 4 marks.
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w1 ffoRed weai 4 @ 98 Reer @1 997 o e — (1x6=8)
(i) wd® oA Hem & -
(a) wipa wE&n
(b) e
(c) s dway”
(d) i wem
(i) 98UT 4x*+10x3+5x5+5x+7 & °g 2 —
(a) 4
(b) 5
(c) 3
(d) 7
(ili) B x-2y=4 &7 1P TA 2 -
(@ (0,3)
(b) (2,2) -
(€) (4,0)
(d) (0,4)
(iv) AABC 7 BC=AB 3R ZB=80°%, @l LA @& & —
(a) 80°
(b) 40°
(c) 50°—
(d) 100°
(v) ©& §HicR agdst ABCD # WA &I & —
(a) ZA 3R £B
(b) ZB sk £C
(c) ZA 3R £C
(d) ZC 3R £D
(vi) <i=ma 4,4,5,7,6,7,.7, 1,2, 3,6 o1 wftas & -

(a) 4
b) 57
(c) 6
(d) 7
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Choose and write the correct option of the following questions -

(i) Every rational number is -
(a) a natural number
(b) aninteger
(C) areal number
(d) awhole number

(i) Degree of the polynomial 4x%+10x%+5x5+5x+7 is -
(@) 4
(b) 5
(c) 3
d) 7

-(iif) One solution of question x-2y=4 is -
(a) (0,3)
(b) (2,2
(c) (4,0)
(d) (0, 4)

(iv) In A ABC, BC=AB and £B=80°, then ZA is equal to -
(a) 80°
(b} 40°
(c) 50°
(d) 100° -

(v) In a parallelogram ABCD, equal angles will be -
(a) ZLAand £B
(b) «£B and £C
(c) ZA and £C
(d) Z£C and £D

(vi) Median of the numbers 4, 4,5,7,6,7,7,1,2,3,6 s -
(@ 4 |
(b) 5
(c) 6
d) 7
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USRS S R S S &1 (0-1)
(i) f4g (7, -6) a% L gl (71-2)
() X=0 oo BT FNGIT & | (X-3N&T/ Y'eﬁ)’
(v) SR TSRS P g 21 (90%4180°)
V) SR TR A wea 8| (P /)
(vi) 3ifesl & s ok ~Faw o= & v @y e |
(e firg /o)

Choose the correﬁt option and fill in the blanks -
(i)  The coefficient of X2, in polynomial X3-x2+1 s «.ovvvvvvveeeen. l.(Of—‘l)
(i) Ordinate of point (7, -6) is ........eevveuenn..... et ———— (7/-6)
(i) x=0isanequation of ........cccoeevviiiniriiinrineennn, (x-axis/y-axis)
(iv) Each angle of arectangleis ............ .. (90°/180°)
(v) The longest chord of the circle is called .........................

{r_adius! diameter)

(vi) The difference of maximum and minimum values of the data

iscalled......ccoocieevnniiiinninnnen (class mark/ range)

962 [923-06-B] Page 4 of 16

(1x6=6) i'



Mo Frefoften St an e v e - =)

%a"q (31)
(i) am+a"
iy -y
(i) x - oteF B Frdwie &
(iv) (1,-2)
- (v) SwEfs o fig

(vi) 5,63 7@ 9~y

(f)

Write the correct match of the following -

Column (A)
(i) am™=+a"
(i) x2-y?

(a)
(b)

(i) The coordinates of x-axis (C)

w ()

o

- (i, 0)

g gt

am-ﬂ
6

(x+y) (x-y)

Column (B)
Angle
(abscissa, 0)

3 quadrant

w_ are
(iv) (-1,-2) (d) a™"
(v) .Common end point . (e) 6
(vi) Mean df 5 6and7 (f)  (x+y) (x-y)
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n4 fFrafiRe g @& SR ue amg ¥ fRifag - (1><6=§]

(i) mﬂgﬁlﬂﬁﬂmmﬁﬁ%\?

(i) =guie f&d wea &7

(iii) fas BT x=3y B 7 By F RRET |

(iv) maﬁwzﬁlmaﬂwwﬁcﬁﬁ?

(v) P o dewa wae R @ a fafag |

(vi) TR f?‘ﬂ @1 uReniya By |

Write the answer of the following in one sentence -
()  What will be the degree of linear polynomial?
(i)  What is quadrant?

(iii) Write the Iinear equation x=3y in standard form.

(iv) What is the range of measurement of an obtuse angle?
(v) Write Heron's formula to find the area of a triangle.

(vi) Define the congruent triangle.
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U.6

() w8l @ yRredz fig = qefig w1 o 2

(i) FrEm 0F TR B A A g
(i) % P/ & &= o &1 2 180° 2 2
(iv) ﬁﬂﬂmmgﬁgmmmmsow’m%l
(v) 3MTE & Bvor www e @

(vi) ¥% ® amraa =L nrch

1
3

Write which of the following statements is true or false -

() The point of intersection of the axis Is called the origin.

(i)  All right angles are not equal to one another.

(iii) The sum of three angles of a triangle is 180°.
(iv) Each angle of an equilateral lriangle is 90°.

(v) Angle in a semicircle is a right angle.

. 1
(vi) Volume of a cone = areh

(9)§zm q[ §| BT

Find the value of (9)? .

3Ydr/ OR
6v5 @ 2v5 R T BT
Multiply 6v5 by 2V5 .

(1x6=6)

@)
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5T ava @R - 272"
Simplify - %3, o'/3
FJyar/OR
23R 2 @ @ra 2 wRia wem s Hg
Find tw‘o rational numbers between g and ;- :
W8 dEUT p(x) =2x+5 BN = FE HifAT
Find the zero of polynomial p(x) = 2x+5.
J¥ar/OR
gfe ague p(x) = (x-1) (x+1) &, 1 p(2) & =7 A SHoq |
If polynomial p(x) = (x-1) (x+1), then find the value of p(2).
ne  fdg (2, -4) & Y= R FifRR & " fafw)
Write the value of the abscissa and ordinate of point (2, -4).
Fgar/OR
fig (-2, 4) 3R (1, 2) & wgum 7 R &7
In which quadrant the point (-2, 4) and (1, 2) are situated?
w10 fagad (1,3) a1 (-2, -3) @1 UG W ITAGT T

Plot the points (1, 3) and (-2, -3) on the graph.
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Y
F,
34
24
14 D
{_: 4 .}X
-3 -2 1 2 3
14
.21
A ¥
a@m?ﬁ&rﬂ'ﬂm_
i) fig D Pdwis Rk |
(i) Fig Fo Préwim fife)
Y
Far)
a4
sl
14 +D
€ + > X
3 -2 -1 1 2 3
14
.24
-ad
F W

According to given figure -

(i) Write the coordinates of point D.

(i) Write the coordinates of point F.

962 [923-06-B] Page 9 of 16



PRE

H.12

aft g (3, 4) wheww Sy=ax+7 & e w Rerd &, @ @ BT AT A
g |
If the point (3, 4) lies on the graph of the equation 3y=ax+7, find the
value of a.

aar/0OR
R WG -2x+3y=6 B ax+by+c=0 B w7 § @@ g AR &, b
AT ¢ B W @Ry |

Write the linear equation -2x+3y=6 in the form ax+by+c=0 and write

the values of a, b and c.
AR 2x+5y=0 B T & A T -
Find two soiutions of equation 2x+5y=0.
Jear/ OR
TH gD B BT Ud Herd B B1Ad A A T | 36 B 31 i
) & Rl < o aren T YR R iR
The cost of a notebook is twice the cost of a pen. Write. a linear

equation in two variables to represent this statement.
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w13 ylas B digd afwaron fafag

Write Euclid's fifth postulate.

et/ OR
yrpfa 4, afe AC=BD 2, @ Rig #iferg s AB=CD 2|

.14
50

b1
]
=g

V
L]
W

I
F v 4

ST -
C 13})\ D

o

In figdre, find the values of x and y and then show that AB||CD.

@)
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| Jyar/OR
gl 3, af ZPQR=£PRQ &, ot fig #Rrg f5 LPQS=£PRT &1

P

&l
AL

S Q R T

In figure, if ZPQR=/PRQ, then prove that ZPQS=/PRT.

S

Sa R T
515 ABC U@ wHewr eyt 8, Rl £A=90° 3k AB=AC 2| /B ik ~C

od ARG | @)

ABC is a right angled triangle in which ZA=90° and AB=AC. Find

/B and «C.

Far/0OR
SSS waiTaHa g faRae |

Write SSS congruence rule.
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W16 U TTT @ For 3:5:9:13 @ o § #1590 A & T Doy 9
P | ~ @)

The angles of quadrilateral are in the ratio 3:5:9:13. Find all the angles
of the quadrilateral.

dyar/OR
TR ﬂg'ﬂ\;rl"cﬁ 2 ot farRag |
- Write-2-properties of parallelogram.

017 14ﬁ.ﬁ.ﬁmmmﬁwwmmﬁaﬁml V)
Find the surface area of a sphere of 14 cm radius.

Jar/0R

W9 @9 g viE @1 amad s e, Rt e 6 A siR\gAE
72721

Find the volume of the right circular cone with radius 6 cm and height

7cm.

18 @I A [@ TGN agdel S 8, A% THA WY YA B0F I
i @ aii < @ | Rrg A | ©
A quadrilateral is a parallelogram, if a pair of opposite sides is equal

and parallel. Prove it.

3ar/OR
catew B v AT @ Rl TR # E ¢

Show that the diagonals of a rhombus are perpendicular to each other.
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S10 foeh vig o St o Rk g g 21 A, e 28 9A B T
e Fa P | ' @)
The height and the slant height of a cone are 21 cm and 28 cm

respectively. Find the volume of the cone.

ar/OR
S T BT AT ST ARG e g g 154 AR R
Find the volume of a sphere whose surface area is 154 cm?.
920 UF & 7 hestd & 10 ¥al & fF=faRan e feg - (3)
2,3,4,501,3,3,4,3 4
%9 Tl @1 e 3R agerh Sk A | |
The following number of goals were scored by a team in@senies of 10

football matches —
2,3,4,5,0,1,3,3,4,3 |
Siora /OR
ferforfaa sn?rr?r @ Tftad T BTG —
155, 160, 145, 149, 150, 147, 152, 144, 148
Find the median of the following data —

155, 160, 145, 149, 150, 147, 152, 144, 148
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H.21

".22

H.23

(2a-3b)P ® ywIRT Wy 3 fofag | @)

Write (2a-3b)2 in expanded form.

3rear/OR
e S B —
2X2+7x+3
Factorise -
X2+ 7x+3
frg AR s 1 & gode D P W A E| @

Prove that angles in_ the same segment of a circle are equal.

g/ OR
ﬁaéﬁmﬁhynﬁmmwﬁm?#awamnﬁmaﬁhamﬁh
Prove thlat equal chords of circle subtend equal angles at the centre.

0 Py @1 dwe T AR R < oo 189, sk 10 94, &

a1 ITHT GRATT 42 FHL B

Find the area of a triangle whose two sides are 18 cm and 10 ¢m and

the perimeter is 42 cm.
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3reEar /OR

% PR @ B quei w1 U 3:5:7 § 3R Iwa gRam 300 .
21 30 YES & SIFA TG PRI |
The sides of a triangular plot are in the ratio of 3:5:7 and its perimeter

is 300 m. Find its area.

______________________________________________
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